

$$\begin{array}{c} A+bi\\ a) 3 \ cis \ 10^{10} \ Q \ 2 \\ a) 3 \ cis \ 10^{10} \ Q \ 2 \\ a) 3 \ cis \ 10^{10} \ Q \ 2 \\ a = 3 \ cos \ 10^{10} \ b = 3 \ sin \ 10^{10} \ cos \ a = 8 \ cos \ \frac{11}{6} \ b = 8 \ sin \ \frac{21}{6} \\ A = 3 \ cos \ 10^{10} \ b = 3 \ sin \ 10^{10} \ a = 8 \ cos \ \frac{11}{6} \ b = 8 \ sin \ \frac{21}{6} \\ A = 0.52 \ b = 2.95 \ A = 8 \ (\frac{12}{5}) \ b = 8 \ (\frac{12}{5}) \\ \hline -0.52 \ t = 2.95 \ A = 8 \ (\frac{12}{5}) \ b = 8 \ (\frac{12}{5}) \\ \hline -0.52 \ t = 2.95 \ A = 8 \ (\frac{12}{5}) \ b = 8 \ (\frac{12}{5}) \\ \hline -0.52 \ t = 2.95 \ A = 8 \ (\frac{12}{5}) \ b = 8 \ (\frac{12}{5}) \\ \hline -0.52 \ t = 2.95 \ A = 8 \ (\frac{12}{5}) \ b = 8 \ (\frac{12}{5}) \ b = 8 \ (\frac{12}{5}) \\ \hline -0.52 \ t = 2.95 \ A = 8 \ (\frac{12}{5}) \ b = 8 \ (\frac{12}{5}) \ b = 8 \ (\frac{12}{5}) \ a = 1 \ (\frac{11}{5} \ (\frac{11}{5} \ + \frac{11}{5}) \ b = 1 \ (\frac{11}{5} \ (\frac{11}{5} \ + \frac{11}{5}) \ b = 1 \ (\frac{11}{5} \ (\frac{11}{5} \ + \frac{11}{5}) \ b = 1 \ (\frac{11}{5} \ (\frac{11}{5} \ + \frac{11}{5}) \ a = 1 \ (\frac{11}{5} \ (\frac{11}{5} \ + \frac{11}{5}) \ (\frac{11}{5} \ (\frac{11}{5} \ + \frac{11}{5}) \ (\frac{11}{5} \ (\frac{11}{5} \ + \frac{11}{5}) \$$